1. HYAPHFABCD oA /BAC = 70°, /BDC = 45° 4 o}, /OBC +
/OCB 9] 2719

A
[> </

@® 70° @65° ® 60° @ 50° ® 45°

LABO = 45° (A7}
/OBC + /0CB += AOBC 9|z}
.. Z/AOB = 65°




B

olom

=
=

ol

YA ABCD o d B9 A D
AABD ACDB ©f|A]

ki)

14 AABD = ACDB (SSS 3

O

@ AB

@B

of|A]

ACDB (SSS

CD, AD

ABD ACDB

A
AB =
AABD




v
o

1M 22 0ABCD 7} H¥APH O] B & Sh= x, y o gh27

@x:8,y:20° @xZIO,y:2O°
® x=10, y=135° @ x=8,y=135°

® x=10, y=25°

x=10, y=20°




o2 T A AT ABCD 9] F o
Z}41e] 4 0 & A|LHs #410] AB, OD o
b= A2 P, Q 2l o o, et B
wo]7F 12cm? ©]H oABCD 9] Ylo]=?

@ 40cm? @ 44cm? 3)48cm?

@ 52cm? ® 56cm?

~&B

AAPO = ACQO (ASA &%)
AOCD = A0DQ + AOAP = 12 (cm?)

AO0CD = %DABCD ojlm=z

(DABCD9] Hl©o]) = 12 x4 = 48 (cm?)




A D
B C
@ 3cm? @ 4cm? ® 6cm?
@ 8cm? ®)10cm?

~&B

) 1
HEo] 3t H pof thsto 5DABCD = APAB + APCD =

APAD + APBCOo|EZ

APAD + APBC = % x 20 = 10(cm?)




6. TF2 AABC 9 A& 0 2t & o, zx 9] A7]=?

@10° @ 20° ® 30° @ 40° ® 50°

~&B

AAOB 94 AO = BO ©|2&, /OAB = /OBA , 100° +
LOAB + /OBA = 180° , ZOBA = 40°

LOBC = £OCB = 40°, z/x+ /OBA + £OCB = 90° , x +40° +
40°=90°, - /x=10°.




© 28° @29° ® 30° @ 31° ® 32°

G
Zo| gHo|ZE HOoW /CBG = /BCA o]
L/CBG = /BCA = /x (37)
- /ABC = /x
(/DAC = /ABG = 58° (592}
58°

=29°
2

CoLX




th& 1304 AABC = AB = AC, /A = A
54° ¢l o]5H Atz oltk A B, C oA o A
Hol| &l =49 S ZHzF M, N o]at &

x4+ 2y Q) A7E? NG <)

@D)81° @ 82° ® 86° @ 88° ® 90°

ABNC = ACMB (RHA &%)
ABMC ©|A /MCB = 63°,y = 27°
/MCN = 63° - 27° = 36°

s x=180°—(36°+90°) = 54°
SLx4 Ly =54°427°=81°




9.

T 1”3} Zo] £C = 90° 91 A 747}
Ade] BC ¢ vtte 2 D 2 7t
o, AABD 9] Hol& F-51H?

@ ABC oA A 9] o]F
t}. AB = l4cm , DC = 4em

® 20cm?

@ 22cm?

@ 26cm?2 ®)28cm?

~&B

Q

@ 24cm?

D oA AB o A4S 1 E 21 s
AAED = AACD (RHA &%)

/A
l4cm
// E
!
1
= D 4cnr C
DE = 4(cm)

1
2. AABD = 14 x4 x == 28( cm?)

1=]
L
Qo]

=



10. o= 2™oM A 17h A d e AL o, 2x + 299 §27

A

® 60° @ 65° ® 70° @ 75° ®)80°

~&B

/x=180°-2x (40°+30°) =40°
SoLx=40°

AR

7+ o] 53t

oLy =40°

SoLx+ Ly =40°+40°=80°

A 17h A7 o] el ng A 19t 42 ge] BAHE ol




11. o3& 299 BPAHEE ABCD A BE £ LABC 9 o] 5RA4l¢]
th.BC = 12c¢m, CD = 8cm ¥ o, DE 9] Zol&?

A E D
V /3(:111

B ~-12em--"C

@ 2cm @ 3cm @4cm @ 5cm ® 6cm

B \
(EBC = /AEB (%7t
=, AABEE o s o|Ez
AB = AE = 8(cm)
DE=AD-AE =12-8 =4(cm)




® 20 @)24 ® 26 @ 28 ® 30

ACOD 9] Yol xCOxmzéx6x8=24°]T4'.

N | =




13. & 2994 AB = AC ©]1 /DFC = 90° ¥ o, x o] Zo]?

® 3cm @)4 cm ® 5cm @ 6cm ® 7cm

AABC |4 /ABC =a 2t 5tH AB = AC 9|22 /ACB =4
ojtt.

w2tA ABEF |4 /BEF = 90—a ©]1 utzH712] 2 ADCF ©f| A
/CDF = 90 — a ©|t}.

Z, /BEF = /CDF, (BEF = /AED (@& A7} o]t}

w2} A ,CDF = /AED ©|E 2 AAED & o] 5 ¥ Atz o1,
AD = AE = x(cm) o]t} w2tA AB = 44-x
x = 4(cm) o]t}

[

i
Q
1)
[0
t




14.

AFZ+d ABCD o4 BE = CF ©]LAE & 4 oD
BF 9] 24& G 2 & o, /.GBE + /BEG 2]
371E?
F
@ 70° @ 80° @90°
B Lo

@ 100° ® 110° E

~&B

AABE = ABCF (SAS &)

/GBE = /FBC = /EAB , /GEB = /AEB = /BFC, /EAB +
(BFC = 90°

.. 90°




15. o 13} Zo] A7zt ABC O] 940l  0d ], AB+AC =

12ecm @] /ABC 9] 37|19

A
\
\
0, 4cm
)
B C
@ 10° @ 20° 3)30°
@ 40° ® & 4 gl

~&B

OA + OB+ AC = 12cm o]t

OA =0B =0Co|2& OA = OC = AC = 4cm o]t}
mrEhA AAOC+ BAZEYo|BERE LOAC =60°

. /ABC =30°




16. tH 1014 DABCD £ BalAp o]t

AB = 12cm, BC = 16cm € o], 0AB
o] oEBFD 9 Yolo] ¥ ufelr}?

@

® 3Hj

@O 24j
1
® 4

1
® 3

~&B

CD ¢

nﬁ

AABE @} ACDF = ©o]5H
AE = AB =12 (cm), CF =
~ ED=BF =16-12=4 (cm
OABCD ¢} oEBFD 9] &0°]

I‘IF

GEBFD ©] o] 9] %

o0z gABCD 9 Hol=

4 (s) ok,




